










Areas 
Type num 
pres 

1 ANSYS 
R16.0 
Jul 22, 2017 
13: 40: 53 

x   z 

Diaphram analysis 



ANSYS 
R16.0 
Jul 19, 2017 
10:58:04 

Nodal solution 
Step = 5 
Sub = 4 
Time = 5 
Usum (Avg) 
Rsys = 0 
DMX = 0.052163 
SMX = 0.052163 

0                 0.11592      0.23184        0.34775     0.46367 
0.005796           0.017388     0.28979    0.040571     0.52163 

Diaphram analysis 

 
 

ANSYS 
R16.0 
Jul 19, 2017 
10:59:13 

0.237E+07        0.654E+07      0.107E+08   0.128E+08 0.149E+08 
 

Nodal solution 
Step = 5 
Sub = 4 
Time = 5 
SEQV (Avg) 
DMX = 0.052163 
SMN = 288126 
SMX = 0.052163 

288126       0.446E+07     0.862E+07   0.128E+08  0.170E+08 
Diaphram analysis 

 
ANSYS 
R16.0 
Jul 19, 2017 
11:21:53 

0                   0.009868      0.019737    0.029605   0.039474 

Nodal solution 
Step = 5 
Sub = 4 
Time = 5 
USUM (Avg) 
RSYS = 0 
DMX = 0.44408 
SMX = 0.44408 

Diaphram analysis 
0.004934          0.014803     0.024671    0.034539  0.044408 

 



ANSYS 
R16.0 
Jul 19, 2017 
11:23:01 

Nodal solution 
Step = 5 
Sub = 4 
Time = 5 
SEQV (Avg) 
DMX = 0.44408 
SMN = 28091.6 
SMX = 0.208E+08 

28091.6   0.464E+07   0.925+07    0.139E+08     0.185E+08 
Diaphram analysis 

0.233E+07  0.695E+07   0.116E+08   0.162E+08    0.208E+08 

ANSYS 
R16.0 
Jul 19, 2017 
11:46:56 

0                0.008285     0.01457       0.021855        0.02914 

Nodal solution 
Step = 5 
Sub = 4 
Time = 5 
USUM (Avg) 
RSYS = 0 
DMX = 0.32782 
SMX = 0.32782 

Diaphram analysis 
0.003642     0.010927    0.018212    0.025497        0.032782 

 
ANSYS 
R16.0 
Jul 19, 2017 
11:46:31 

Nodal solution 
Step = 5 
Sub = 4 
Time = 5 
SEQV (Avg) 
DMX = 0.32782 
SMN = 300326 
SMX = 0.248E+08 

300326     0.574E+07     0.112E+08  0.166E+08 0.221E+08 

Diaphram analysis 
0.302E+07   0.846E+07    0.139E+08    0.193E+08   0.248E+08 

ANSYS 
R16.0 
Jul 19, 2017 
10:59:07 

0.004196       0.012589      0.209281      0.29374      0.37767 

Nodal solution 
Step = 5 
Sub = 4 
Time = 5 
USUM (Avg) 
RSYS = 0 
DMX = 0.37767 
SMX = 0.37767 

Diaphram analysis 

0                0.008393    0.016785      0.25178       0.03357 

ANSYS 
R16.0 
Jul 19, 2017 
10:58:31 

Nodal solution 
Step = 5 
Sub = 4 
Time = 5 
SEQV (Avg) 
DMX = 0.37767 
SMN = 199123 
SMX = 0.228E+08 

199123   0.523E+07   0.103E+08   0.153E+08  0.203E+08 

Diaphram analysis 
0.271E+07    0.774E+07     0.128E+08    0.178E+08 0.228E+08 
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